
SAP ABAP table PDPBSZVSUM {Totals Record (Record Type 90), SPI}

PDPBSZVSUM

MANDT [CLNT (3)]

AUSWP [CHAR (6)]

LAUFID [CHAR (2)]

ANLAR [CHAR (4)]

AINSL [CHAR (8)]

WERKS_SUM [CHAR (4)]

BTRTL_SUM [CHAR (4)]

VAKEY [CHAR (8)]

SEQSA [NUMC (2)]

T000

MANDT [CLNT (3)]
 PDPBSZVSUM-MANDT = T000-MANDT 

0..N

1

T001P

MANDT [CLNT (3)]

WERKS [CHAR (4)]

BTRTL [CHAR (4)]

 PDPBSZVSUM-BTRTL_SUM = T001P-BTRTL 0..N

1
T500P

MANDT [CLNT (3)]

PERSA [CHAR (4)]

 PDPBSZVSUM-WERKS_SUM = T500P-PERSA 
0..N1

T5DPBSZVZVE

MANDT [CLNT (3)]

ANLAR [CHAR (4)]

AINSL [CHAR (8)]

ENDDA [DATS (8)]

 PDPBSZVSUM-AINSL = T5DPBSZVZVE-ANLAR 

0..N

1

T5DR1

MANDT [CLNT (3)]

ANLAR [CHAR (4)]

 PDPBSZVSUM-ANLAR = T5DR1-ANLAR 

0..N

1


